
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplicação de polinômios

(6 − 9x (6x − 8)2) (9 + 7x)(6x + 6)

(9x − 9)(3x + 7)2 (9 + 4x (8x − 5)2)

(7x − 2)(5x − 3) (7 − 9x)(5x + 5)

(3x + 5x + 5)(6x + 7)2 (7 − 3x)(8x + 9)

(8x + 8)(4x + 7x + 7)2 (8x + 7)(x + 5x + 5)2

www.snowmath.com

https://www.snowmath.com


Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplicação de polinômios

(6 − 9x (6x − 8)2)

−54x + 72x + 36x − 483 2

(9 + 7x)(6x + 6)

42x + 96x + 542

(9x − 9)(3x + 7)2

27x + 63x − 27x − 633 2
(9 + 4x (8x − 5)2)

32x − 20x + 72x − 453 2

(7x − 2)(5x − 3)

35x − 31x + 62

(7 − 9x)(5x + 5)

−45x − 10x + 352

(3x + 5x + 5)(6x + 7)2

18x + 51x + 65x + 353 2

(7 − 3x)(8x + 9)

−24x + 29x + 632

(8x + 8)(4x + 7x + 7)2

32x + 88x + 112x + 563 2

(8x + 7)(x + 5x + 5)2

8x + 47x + 75x + 353 2
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